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Interpreting Population Graphs

1. Which h hesis i hi h?
ich hypothesis is best supported by this grap Cardinal Population Within

a State Park

i
.

A. The population of cardinal predators increased.

B. Dominant cardinal chicks were the first to be fed.
C. A disease of cardinals spread throughout the park.
D. The cardinals’ food supply increased.

Population
(number of cardinals)

2. What type of growth is shown in the graph?

A. Stabilized Growth
B. Linear Growth
C
D

Y

Exponential Growth Time (years)

. Zero Growth

3. This graph shows the sizes of lynx and hare

populations between the years of 1845 and 1940. If a
Lynx virus was to reduce the lynx population, you might
160—§ ----- Snowshoe hare expect the number of —

Population Fluctuations

A. lynx and hares to become equal
B. lynxtoincrease

C. harestoincrease

D. hares and lynx to decrease
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4. What type of relationship is shown in the graph to the
left?
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A. Mutualism
B. Parasitism
C
D

1850 1875 1900 1925 . Commensalism

Year Predator-Prey
Number of Mice Born by Week
5. According to the graph, how many mice will be born 90
in week 5 if the trend continues? Mg
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6. According to the data in the graph, during which time Bluegill Population in Farm Pond
period did the overall bluegill population decline? 1990-2002
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7)) \V\,f«\/ﬁw\//\/}_/ 7. The graph to the left, suggests that from
'2 3 x4 1840 to 1920, the carrying capacity for
< /r/' sheep in Tasmania was approximately —
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1820 1840 1860 1820 1900 1920 A. 0.75 mllllon
Year B. 1.00 m!II!on
C. 1.75 million
. . . D. 2.25 million
What is the population of deer at the carrying "
capacity of the environment?
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Which of the graphs below shows a stabilized bacterial b 2 5l
population? A =
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Which of the graphs below shows a bacterial
population that has a constant source of nutrients?
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